
	
  
Using	
  N_images	
  >	
  1	
  vs	
  
N_images	
  >	
  0	
  	
  
	
  
The	
  default	
  is	
  to	
  use	
  
N_images	
  >	
  1,	
  to	
  insure	
  the	
  
source	
  is	
  real.	
  
However,	
  there	
  will	
  be	
  
cases	
  when	
  a	
  person	
  needs	
  
to	
  use	
  N_images	
  >	
  0	
  	
  .	
  
An	
  example	
  is	
  to	
  search	
  for	
  
transient	
  (one	
  Cme)	
  events.	
  
	
  
BE	
  CAREFUL	
  !	
  	
  
	
  
There	
  will	
  be	
  many	
  more	
  
arCfacts	
  (e.g.,	
  blank	
  sources	
  
from	
  cosmic	
  rays).	
  
	
  
However,	
  using	
  N	
  >	
  1	
  	
  also	
  
removes	
  some	
  real	
  sources.	
  	
  
	
  
Blink	
  between	
  this	
  VG	
  and	
  
the	
  next	
  to	
  see	
  the	
  effect	
  of	
  
changing	
  from	
  N_images	
  >	
  
1	
  to	
  	
  N_images	
  >	
  0.	
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